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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.
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Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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The function of Cytokinin is to increase :

(a) cell division (b) differentiation

(c) cell elongation (d)  fruit initiation
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Conduction of food materials does not take place in mature sieve elements because :
(a) Pores are blocked by callose
b) Pores are blocked by hemi-cellulose

(
(c) Pores are blocked by tyloses
(d) Pores are blocked by celluloses
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Number of chromosome found in gametes of garden pea plant :
(@) 7 b 12 () 5 (d) 23
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2,4-D (d) IAA (o) NAA (b) GA (a)
What will you use to eradicate the unnecessary plants which grow with crops ?
(@) GA (b) NAA () IAA (d) 2,4-D
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AAG (d) UAA (o) UGA (b) CCG (a)
Proline has four codons CCA, CCC, CCU and
(a) CCG (b) UGA (c) UAA (d) AAG
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Aeschynomene aspera is a :
(@) Mesophyte (b) Lithophyte
(c) Xerophyte (d) Hydrophyte
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Enriched vitamin tablets are produced from the following organism for human

consumption :
(@) Mushroom (b) Spirulina
(c) Nostoc (d) Yeast

The root hairs originates from :

(a) Hypodermis (b)  Pericycle
(c) Trichoblasts (d) Endodermis
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The tissue generally present in all organs of plant is :
(a) Collenchyma (b)  Sclerenchyma
(c) Parenchyma (d) Chlorenchyma
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Bio-diesel is extracted from :
(a) Riccinus communis (b) Phyllanthus amarus
(c) Jatropha curcas (d) Jatropha gossypifolia
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Who coined the term biosystematics ?
(a) Carolus Linnaeus (b) Engler and Prantl
(c) Camp and Gily (d) George Bentham and Hooker
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An example for transferase is :

(a) Histidine decarboxylase (b) G-3-P dehydrogenase
() Transaminase (d) Pyruvic carboxylase
-%JV cad/_‘u%.uﬁul%ﬂf
5 (d) 17 (o) 10 (b) 20 (a)
Duration of patent in India is years.
(@) 20 (b) 10 () 17 (d 5
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possesses anticancerous properties.
(a) Basmati (b) Marmelosin
(c) Vinca rosea (d) Brazzein
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900 nm & 700nm  (b) 700nm  400nm  (a)
300nm ¢ 200nm  (d) 200nm ¢100nm  (c)
Which of the following wavelengths of light is most effective for photosynthesis ?
(@) 400 nm to 700 nm (b) 700 nm to 900 nm
(c) 100 nm to 200 nm (d) 200 nm to 300 nm
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Answer any six of the following. Question Number 24 is compulsory.
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Write the systematic position of Arecaceae.
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Write the binomial of two rubber yielding plants.
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What are the two unique facets of Bio-Patency ?
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What are the uses of gene mapping ?
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Define transcription.
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Name the enzymes involved in making hybrid DNA.
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Write the overall equation of photosynthesis.
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Write any two differences between photorespiration and dark respiration.
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Differentiate meristematic tissue from permanent tissue.
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Answer any six of the following. Question Number 33 is compulsory.
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Write any three merits of Bentham and Hooker’s classification of plants.
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Draw the floral diagram and write the floral formula of Hibiscus rosa-sinensis.
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How periderm is formed ?

L UL i S fes\ S S

Draw the structure of chromosome and label its parts.
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Write any three genetically engineered products and mention their functions.
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What is Richmond Lang effect ?
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Write the medicinal value of Aegle marmelos.
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What is the importance of E.Coli in biotechnology ?
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“C, plants shows segregation of photosynthetic work.” State whether the statement is
true or false. Justify your statement.
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(@) Describe the flower of Musa Paradisiaca in technical terms.
OR
(b) What is Herbarium ? Write any four significance of herbarium.
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(a)  Write short notes on annual rings.

OR
(b) What are concentric vascular bundles ? Explain its types with neat labelled
diagram.
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Rearrange the following terms based on techniques of plant tissue culture and
explain.

(i)  Morphogenesis (i) Hardening
(i) Inoculation (iv) Embryogenesis
OR

Describe the process in which glucose is converted into pyruvic acid with the
help of Flowchart.
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Write the significance of pentose phosphate pathway.
OR
Explain the structure of t-RNA with diagram.
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(i)  What is the binomial of groundnut ? To which family groundnut belongs
to ?
(i) Bring out any five economic importance of groundnut.
OR
Define DNA recombinant technology. Mention its events.
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